MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 5)

TWO DIGIT DECIMAL NUMBER fie Soomer
301) 4 % 4.4 — 106 —(0.0005 x 0.7 =
392 —(.03 x 0.0058 = ) —0.5 x (=33) =
93 —0.1 x (=0.03) = 10s) (.01 x 5.8 =
390 0.001 x 0.098 = 109 (0.01 X 6.3 =
395 (0.0002 x 2.4 = 410)(0.07 x 0.0073 =
3000 —0.05 % 0.0098 = a1 —0.0002 x (—0.98) =
7 0.0006 x (—0.075) = 12 —1 x (—0.0019) =
3% 2% (0.1 = 413) —(0.06 x 0.0087 =
19 —0.01 x (=1.8) = 19 —0.02 x (=0.3) =
1000 —0.004 x 38 = 15 —(0.008 x 0.066 =
w015 x 0.0044 = a6 —3 x 1.9 =
102) 0.1 % 0.065 = 17 (0.02 x 0.099 =
103 0.007 x 0.0014 = a8) . —0.007 x 0.74 =
10 —0.0005 X 4.6 = 19 —0.005 x (—0.23) =
105 9% 0.014 = 20 —0.6 X (—=2.5) =
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